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25 199450680  |%&ih (WUBRHH) % kg 105. 6799 7.88 832. 76
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TAEm 2R

TREXHR: A BPHEATIE P B TE A I KSR H 5 1 50 JE 5
F5 | TUH b I H A4 5K I H AR AL | TR | e | B
=R
ﬁvﬂﬂﬁiﬁﬁ
I Wil | KIEDR m2 | 4988.48 39. 08[194949. 80
3. M)ZESE. WhIKE A 5mm 1:2.8
IKYERSH
1> 1T5ARJE = 7.4%7.55+10. 25%7. 53+10. 2%7. 55+2. 6%2+1. 4%1. 2— (3. 9%1. 8+1. 4%1. T+1. 9*1. 3) =205. 0725

2> 95 R = 4. 85%7+8. 25%3. 2+5. 55%3. 2+14%7+2. 6%2+11. 9%7+3. 9%9. 1+1. 2%4. 8— (0. 65%2. 4%2+1%2. 4+

1. 5k1*3+1*1.

3> 115 =

<4>
12,

135 =

<5>
<6>

<>

8>
.94

<9>
T*6.

2255 =

<10> 245
11> 25%
265
v
255
<15> 3
<16>
A7
18> 75

<19> 10%=
)=221.63

<12>
13>
<14>

N

W
Jo Jo
Il Il Il

a

0

20> 125
Q21> 13%
22> 15%
23> 165
Q24> 175
25> 18%
26> 195

3+0. 9*1.

4+3. 8%3.

S

3%2+1. 2%1. 5*2+0. 6%2, 3+0. 9*1. 5%3) =284, 21

3. 8xT+T. 15%7+7. 3*xT+2%1. 6+3. 4%1. 3+6. 77— (1*1. 3%6) =174. 47

18. 4%7. 9+7. 25%1. T5+11. 2%3. 6+4. 4%7. 9+1. 2%1. 2+10. 3%2. 05+5. 1%7. 3— (1*1. 3%8+1. 1*1. 4%2+
8)=275. 5125

10. 9%7. 25+5. 95%7. 25+4. 2%3. 4+6. 1%3. 7- (1*1. 3x5+0. 7x1. 8)=151. 2525

8. 6%3. 4+10. 2*5=80. 24

7.45%7.25+10. 2%0. 7+10. 2%2. 8- (0. 8%1. 9)=88. 1925

7.8%6. T+7. 8%6. T+10. 1%6. 7+2. 6%2. 6+10. 2%6. 7— (2. 8%1. 6+0. 9% 1. 9%2+2, 5%2. 4+3. 5%2. 7) =223

3. 4%6. 8+3. 35%3. 5+2. 3%2. 1+10. 1*3. 35+10. 75%3. 5+10%6. 5+10%6. 8+2. 2%2. 3+6. 7*1. 5/2%2+6.
5+8. 8%0. 9- (2. 4%0. 6+0. 8%2. 5+0. 9*%2. 3%2)=315. 765

T.4%16. T+1. 4%4. 6+5%5. 6+8. 5*4. 6+1. 9%4. 5+1. 4%5. 4=213. 23
7.7%6. 3— (1. 4%2. 8)=44. 59
3. 85%1. 7T+6. 25%3. 25+4. 2%3. 5+6. 3*3. 1+5. 5%3. 1+5. 5*3. 1+1*3. 1+6. 25%4. 5=126. 4125

/Nl = FO+F1+4F2+F3+F4+F5+F6+F7+F8+F9+F10+F12=2182. 8875

18%3. 1+6. 1*3. 9+3. 4%2=86. 39
14. 1*1.8+12. 2%1. 9+4. 1*#2+19%2. 1+7. 5%1. 8+15. 8%2. 7=152. 82

3*3. 1+0. 85%2. 3+4. 2%2. 4+3. 3%2. 6+3. 5*2. 35+6*3+9. 6%2. 2+5. T*2. 9=93. 79
3. 2%3. 3+4. 4%3. 3+7. 5%3. 3— (1. 95%0. 85+0. 7*1. 9) =46. 8425
6. 5%1. 5+2. 8%3. 1+4. T*2. 9+4. 2%2. 5+3. 4%2. 9+8. 6%2. 05— (0. 9*1. 9+1. 8%2) =64. 74
14. 9%3. 95+9. 7%5+9. Tk5+16. 14, 1+5. 1%2. 15— (1. 4*1. 8+0. 9%2. 2+1. 2%3. 3+0. 6%2. 3+0. 8%1. 7

(7.7+7.5) %2, 8+15. 2%2, 8+4%3. 4+4%3, 4+9. 55%2. 8- (0. T*1. 7%3)=135. 49

6. 35%2. 1+1. 7%2. 5=17. 585

4. 95%1, 85+2. 15%0. 5+5*2. 3=21. 7325

6. 8%3+15. 2%2. 1+9%2. 9- (0. 8%2%2+1. 2%2) =72, 82

5. 75%2. 3+6. 25%4, 3+4. T*3. 6+2. 2%1. 9+3. 2%2. 9+3. 6%1. 7 (1. 4%2)=73. 8

4. 95%3, 15+3. 9%2. 7+3. T*2. 6=35. 7425

7.5%3. 25+5. 25%3. 5+3. 2%2, 3+6. 1*1. 3+4. 35%3. 1+9. 3%1. 9+2%1. 8- (1. 5*2. 6+1. 2%2) =86. 495
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Q7> /Mt = F13+F14+F154F16+F17+F18+4F19+F20+F21+F22+F23+F24+F25=1109. 8775
28> [HBE25 = 65. T%3. 3+2%0. 2+1. 7*x8+2. 5*0. 2+2%0. 2+24. 75%2. 5+3. 5%1%2=300. 585
29> 4%

1. 9%1. 5+17. 1*1. 6+1. 4%1. 4%2=34. 13

30> 5% = 4. 7*1. 7+7.2%1. 7=20. 23

31> 6% = 10%2. 2+17. 5%1. 6+2. 7%2. 3+17%2. 2=93. 61
32> 8% = 4.5%2+11. 1*1. 7+5. 8%2. 9=44. 69

<33> 9% = 3.85%1.8+3. 6%3. 4+3. 35%2. 1+4%1. 5=32. 205

<34> 105 = 16%1.85=29.6
<35> 1245 = 2.4%1.5+18%2+14. 2%0. 9+1. 4%1. 8+10%1. 9+20. 8%2. 5=125. 9

36> 13%5 = 7.25%1. 75+8. 2%2. 3+4. 35%2. 1+5. 85%1. 9+10. 4%2. 1+0. 8+2. 5=75. 6375
37> 14%5 = 8.1%2. 1+1.9%2. 2+3. 05%2. 8+9. 9%2. 2=51. 51

<38> 15% = 2. 7x1.8+0. 8%2. 8%2+2. 1*2. 6=14. 8

39> 2345 = 3.2%2+2%2. 4+5. 5%2. 8+1. 414, 3+1%2=48. 62

40> 245 = 4. 3%2+4. 3k1. 5+4. 4%2. 1+4. T*2. 1+2. 4%2. 1=39. 2
41> /M = FL1I+F26+F27+F28+F29+F30+F31+F32+F33+F34+F35+F36+F37=910. 7175
<42> #8h0 = 685+100=785

43> gEBEE R (GCLMXH]) = 205. 0725+284. 2100+174. 4700+275. 5125+151. 2525+80. 2400+88. 1925+223. 940
0+315. 7650+213. 2300+44. 5900+126. 4125+86. 3900+152. 8200+93. 7900+46. 8425+64. 7400+221. 6300+135. 4
900+17. 5850+21. 7325+72. 8200+73. 8000+35. 7425+86. 4950+300. 5850+34. 1300+20. 2300+93. 6100+44. 6900
+32.2050+29. 6000+125. 9000+75. 6375+51. 5100+14. 8000+48. 6200+39. 2000+785. 0000=4988. 4825

01140600300 |- L B SRt
2 TRl 2. BT ApE i 7K m2 | 4988.48 18. 58 92685. 96
3. T 238
<1> TFEE = 4988. 48=4988. 48
01140600100 ‘ [ e SR 0 LN
3 EZ W JIRHEES 2. JhER AT IR AL 21 m2 | 3292.77 14. 69| 48370. 79
HRAL:

A> 15RIE = 7.4%7.55+10. 25%7. 53+10. 2%7. 55+2. 6%2+1. 4%1. 2— (3. 9%1. 8+1. 4%1. 7+1. 9x1. 3)=205. 0725
2> 95 E G = 4. 85%T+8. 25%3. 245, 55%3. 2+14%7+2, 6%2+11. 9%7+3. 9%9. 1+1. 2%4. 8- (0. 65%2. 4%2+1%2, 4+
1. 513+ 11, 3%2+1. 2%1. 5%2+0. 6%2. 3+0. 9*1. 5%3) =284. 21

3> 1145 = 3. 8*T+7. 15%T+7. 3kT+2%1. 6+3. 4% 1. 3+6. T*7— (1x1. 3%6) =174. 47

4> 13%5 = 18.4%7.9+7. 25%1. 75+11. 2%3. 6+4. 4%7. 9+1. 2%1. 2+10. 3%2. 05+5. 1*7. 3- (1*1. 3*8+1. 1*1. 442+
1%2. 3+0. 9%1. 8)=275. 5125

<B> 145 = 10. 9%7. 25+5. 95%7. 25+4. 2%3. 4+6. 1*3. 7-(1*1. 3*%5+0. 7*1. 8)=151. 2525

<6> 15%5 = 8.6%3.4+10. 2¥5=80. 24
7.45%7.25+10. 2%0. 7+10. 2%2. 8- (0. 8*1.9)=88. 1925

<T> 205
8> 218 =
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7.8%6. T+7. 8%6. T+10. 1*6. 7T+2. 6%2. 6+10. 2%6. 7— (2. 8+ 1. 6+0. 9*1. 9%2+2. 5%2. 4+3. 5*2. 7) =223. 94

9> 2245 = 3.4%6.8+3. 35%3. 5+2. 3%2. 1+10. 1*3. 35+10. 75%3. 5+10%6. 5+10%6. 8+2. 2%2. 3+6. T*1. 5/2%2+6.
T%6. 4+3. 8%3. 5+8. 8%0. 9- (2. 4%0. 6+0. 8%2. 5+0. 9%2. 3x2) =315. 765

<10>
<11>
<12>
<13>
<14> 2
<15>
<16>
<17
<18>

<19>
) =22

<20>
21>
22>
23>
<24>
25>
26>
27>

28> %

245
255
265

7. 4%16. T+1. 4%4. 6+5%5. 6+8. 5*4. 6+1. 9%4. 5+1. 4%5. 4=213. 23
7.7%6. 3- (1. 4%2. 8)=44. 59

3. 85%1. 7+6. 25%3. 25+4. 2*3. 5+6. 3*3. 1+5. 5*3. 1+5. 5*3. 1+1*3. 1+6. 25%4. 5=126. 4125

AR /Nt = FO+F14F2+F3+F4+F5+F6+F7+F8+F9+F10+F12=2182. 8875

qm

3
4
5

do J

do

5

105
1.63

125
13%5
15%
16%
175
18%
19%

Jef5 = 18%3. 1+6. 1%3. 9+3. 4%2=86. 39

14. 1%1. 8+12. 2%1. 9+4. 1*2+19%2. 1+7. 5*1. 8+15. 8%2. 7=152. 82

3%3. 1+0. 85%2. 3+4. 2%2. 4+3. 3%2. 6+3. 5*2. 35+6*%3+9. 6%2. 2+5. 7*2. 9=93. 79

3. 2%3. 3+4. 4%3. 3+7. 5%3. 3- (1. 95%0. 85+0. 7x1. 9) =46. 8425

6. 5%1. 5+2. 8%3. 1+4. T*2. 9+4. 2%2. 5+3. 4%2, 9+8. 6%2. 05— (0. 9%1. 9+1. 8%2) =64. 74

14. 9%3. 9549, T%5+9. T%5+16. 1x4. 1+5. 1%2. 15— (1. 4%1. 8+0. 9%2. 2+1. 2%3. 3+0. 6%2. 3+0. 8%1. 7

(7.7+7.5)%2. 8+15. 2%2. 8+4%3. 4+4%3. 4+9. 55%2. 8— (0. 7*1. 7%3)=135. 49

6. 35%2. 1+1. 7*2. 5=17. 585
4.95%1. 85+2. 15%0. 5+5%2. 3=21. 7325
6. 8%k3+15. 2%2. 1+9%2. 9— (0. 8*2%2+1. 2%2) =72. 82

5. 75%2. 3+6. 25%4. 3+4. T*3. 6+2. 2%1. 9+3. 2%2. 9+3. 6%1. 7- (1. 4%2)=73. 8

4.95%3. 15+3. 9%2. 7+3. T*2. 6=35. 7425

7.5%3. 25+5. 25%3. 5+3. 2%2. 3+6. 11, 3+4. 35%3. 1+9. 3x1. 9+2%1. 8- (1. 5%2. 6+1. 2%2) =86. 495

Z4 /Nt = F13+F14+4F154F16+4F174F18+4F19+F20+4F21+F22+F23+F24+F25=1109. 8775

LI,

E 5 (GCLMXH]) =

205. 0725+284. 2100+174. 4700+275. 5125+151. 2525+80. 2400+88. 1925+223. 940

0+315. 7650+213. 2300+44. 5900+126. 4125+86. 3900+152. 8200+93. 7900+46. 8425+64. 7400+221. 6300+135. 4
900+17. 5850+21. 7325+72. 8200+73. 8000+35. 7425+86. 4950=3292. 765

754. 54

14. 70

11091. 74

01140600100 |4y . §§E§%§ s %%@ﬁ%*ZEEﬁ o

<> 15RIE = (7.4+10.25+10. 2) %0, 8+(2. 6+1. 4) *0. 5=24. 28

<2> 95 = (4.85+8.25+5. 55+14+11. 9+3. 9+1. 2) %0. 8+2. 6%0. 5=41. 02
<3> 115 = (3.8+7. 15+7. 3+6. 7) *0. 8+ (2+3. 4) *0. 5=22. 66

<4> 135 = (18.4+11.2+4. 4+5. 1) %0. 8+ (7. 25+1. 2+10. 3) *0. 5=40. 655
<5> 145 = (10. 9+5. 95+4. 2+6. 1) %0. 8=21. 72

<6> 155 = (8.6+10.2)*0.8=15. 04

<T> 205 = 7.45%0. 8+10. 2%0. 5=11. 06

<8> 21'5 = (7.8+7.8+10. 1+10. 2) *0. 8+2. 2%0. 5=29. 82
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FPig | TiH gk SR IS ESEOR i AL | TREECE | AR | A

<9> 229 = (3.4+3.35+10. 1+10. 75+10+10+6. 7+3. 8) *0. 8+ (2. 3+2. 2+6. 7) *0. 5=52. 08
10> 244 = (7.4+1. 4+5+8. 5+1. 9+1. 4) *0. 8=20. 48
11> 25%

7.7%0. 8=6. 16
12> 265
<13> FRiEB /Mt = FO+F1+F2+F3+4F4+F5+F6+4F7+F8+F9+F10+F11=317. 98
14> Fp32%5 = (18+6. 1) *0. 8+3. 4%0. 5=20. 98

(3. 85+6. 25+4. 2+6. 3+5. 5+5. 5+1+6. 25) *0. 8+3. 85%0. 5=33. 005

15> 35 = (14.1+12.2+4. 1+19+7. 5+15. 5) *%0. 5=36. 2

<16> 45 = (3+0.85+4. 2+3. 3+3. 5+6+9. 6+5. 7) %0. 5=18. 075
17> 5%5 = (3.2+4.4+7.5)%0.8=12. 08

18> 7% = (6.5+2.8+4. T+4. 2+3. 4+8. 6) *#0. 5=15. 1

<19> 1045 = (14.9+9. 7+9. 7+16. 1) 0. 8+5. 1*0. 5=42. 87
20> 12%5 = (7.7+7.5+15. 2+4+4+9. 55) *0. 5=23. 975
<21> 13%5 = (6.35+1.7)*0.5=4. 025

<22> 155 = (4.95+5)*0. 5=4. 975

<23> 16%5 = (6.8+15.2+9)*0.5=15.5

24> 175 = (5. 75+6. 25+4. T+2. 2+3. 2+3. 6) *0. 5=12. 85
<25> 18%5 = (4.95+3.9+3. 7)*0. 5=6. 275

<26> 195 = (7.5+5.25+3. 2+6. 1+4. 35+9. 3+2) *0. 5=18. 85

27> =/t = F13+F14+F15+F16+F17+F18+F19+F20+F21+F22+F23+F24+F25=231. 755
28> [iE2E = (65.7+1.7+24. 75)*0. 5=46. 075

<29> 45 = (1.9+17. 1+1. 4)*0. 5=10. 2

<30> 55 = (4.7+7.2)*0.5=5.95

31> 65 = (10+17.5+2. 7+17)%0. 5=23. 6

<32> 85 = (4.5+11. 1+5.8)*0.5=10. 7

<33> 95 = (3.85+4)%0.5=3. 925

<34> 10%5 = 16%0. 5=8

<35> 125 = (2.4+18+15. 2+14+10+20. 8) *0. 5=40. 2
<36> 135 = (7.25+8.2+4. 35+5. 85+10. 4+0. 8) *0. 5=18. 425
37> 145 = (8. 1+1.9+3. 05+9. 9)*0. 5=11. 475
<38> 155 = (2. 7+0. 8%2+2. 1) *0. 5=3. 2

<39> 2395 = (3.2+2+5. 5+14. 3+1)*0. 5=13

<40> 245 = (4.3+4.3+4. 4+4. T+2. 4)*0. 5=10. 05

41> [EBE/NT = F12+4F26+F274F28+F29+F30+F31+F32+F33+F34+F35+F36+F37=204. 8

42> RS (GCLMXH]) = 24. 2800+41. 0200+22. 6600+40. 6550+21. 7200+15. 0400+11

. 0600+29. 8200+52. 0

800+20. 4800+6. 1600+33. 0050+20. 9800+36. 2000+18. 0750+12. 0800+15. 1000+42. 8700+23. 9750+4. 0250+4.

9750+15. 5000+12. 8500+6. 2




TAEm 2R

TREAAR: A BT EEAIE Y R OGHE A KSR T 0 H 4 5 0 Jt5
FPig | TiH gk SR IS ESEOR i AL | TREECE | AR | A

750+18. 8500+46. 0750+10. 2000+5. 9500+23. 6000+10. 7000+3. 9250+8. 0000+40. 2000+18. 4250+11. 4750+3. 2
000+13. 0000+10. 0500=754. 535

PEEHRIBE A
JE
Sk ﬁﬁ ik &hft
5 |3 e [ — PRI m%@% m2 410. 25 39.06| 16024. 37
3. MR, WAL 5mm 1:2. 8
IKVeRbH
<1> 1 = 4%2.8+27. 5%7. 2+5. 34, 18+2. Tx5. 2+16. 8%3. 5- (2. 25%5) =292. 944
<2> 2 = 1.4%1.2+7. 8%1. 9+5. 2%3. 2+4. 2%3. 9+8. T2, 2+7. 6%2+15. 6%2+1. 5%1. 5=117. 31

3> LB (GCLMXH]) = 292.9440+117. 3100=410. 254

1. R - ST
6 |91 110600300 et - 2. IR-TRIE it KT m2 | 410.25|  18.57| 7618.34
3. T A - 23

<1> TR = 410.25=410. 25
01140600100 . LRSS BRI
T |3 £Z QIRIIRES 2. JhER A T A i R m2 410. 25 14. 68| 6022.47
3. BB AR TH
<1> TFEE = 410.25=410. 25
01140600100 - L BRI Btk e
8 |5 VORI |2, WAl s 4 R (RS RT3 | m2 67.84 14.72(  998.60
3. AL 2 A T b R+ 2
1> = (27.5+5.3+2. T+16. 8) %0. 8=41. 84

2> (1. 4+7. 8+5. 2+4. 248. 7+7. 6+15. 6+1. 5) *0. 5=26
3> HEEEEH (GCLMXH]) = 41.8400+26. 0000=67. 84
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